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Emma practiced her guitar skills for hours every day. 
________, she amazed everyone with a flawless performance 
at the talent show. 
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Which choice completes the text with the most logical 
transition?  
 

A. Nonetheless 

B.  As a result 

C. Moreover 

D. For instance 
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Some animals have developed unique strategies to navigate 
harsh environments. The Arctic tern, ______ migrates over 
25,000 miles each year between the North and South Poles, 
making it one of the longest migrations of any animal. 
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Which choice completes the text with the most logical 
transition?  
 

A. therefore, 

B.  however, 

C. for instance, 

D. additionally, 
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The chef carefully selected the finest ingredients for the new 
recipe. ________, the combination of the ingredients did not sit 
well on the palates of the restaurant’s patrons, thus making for 
poor reviews from all who dined there.   
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Which choice completes the text with the most logical 
transition?  
 

A. Meanwhile 

B.  Eventually 

C. Therefore 

D. However 
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The process of photosynthesis is essential for plant growth, as 
it allows plants to convert sunlight into energy. First, light 
energy is absorbed by chlorophyll, which then converts it into 
chemical energy. ______, the plant uses this energy to convert 
carbon dioxide and water into glucose, providing nourishment 
for growth. 
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Which choice completes the text with the most logical 
transition?  
 

A. Moreover 

B.  Next 

C. Consequently 

D. Although 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Section 1, Module 1: Reading and Writing​ ​ ​ TIME  
 

 
 

Although many modern technologies rely on complex systems 
and algorithms, some of the most effective solutions are 
surprisingly simple. The "Pomodoro Technique," ______, 
involves breaking work into short, timed intervals, with breaks 
in between, to increase focus and productivity. 
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Which choice completes the text with the most logical 
transition?  
 

A. for example 

B.  in contrast 

C. nevertheless 

D. as such 
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Notwithstanding the complex nature of quantum mechanics, 
the brilliant physicist elucidated the intricacies with 
unparalleled clarity during the lecture. ________, even those 
with limited scientific backgrounds found themselves 
captivated by the subject matter. 
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Which choice completes the text with the most logical 
transition?  
 

A. Consequently 

B.  On the one hand 

C. Nevertheless 

D. Secondly 
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In the realm of literature, the author's adept use of symbolism 
subtly conveys profound philosophical themes within the 
narrative. ________, the author’s writing style is often 
described as exhausting, and this skillful use of symbolism 
does not translate to an overall enjoyable experience for the 
reader. 
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Which choice completes the text with the most logical 
transition?  
 

A. For instance 

B.  In fact 

C. Clearly 

D. Still 
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Before the 1920s, many countries around the world struggled 
with issues of economic inequality. In the United States, 
industrialization led to the rapid growth of cities, but also 
widened the gap between the wealthy and the working class. 
_______, in Europe, social reforms were also being discussed 
as a response to the growing disparity between rich and poor. 
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Which choice completes the text with the most logical 
transition?  
 

A. To conclude 

B.  Similarly 

C. Specifically 

D. In contrast 
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Throughout history, artists have consistently drawn inspiration 
from the natural world, seeking to capture its inherent beauty in 
a variety of mediums. ______, during the 19th century, a 
growing trend emerged amongst landscape painters to 
immortalize not only the serene splendor of nature but also its 
more transitory and dynamic elements, such as the 
ever-shifting light at dawn and the gradual transformations of 
the seasons. 
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Which choice completes the text with the most logical 
transition?  
 

A. For this reason 

B. Nevertheless 

C. Consequently 

D. Increasingly 
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In his 2018 memoir, Educated, Tara Westover recounts the 
story of her tumultuous upbringing in a strict, survivalist family 
in rural Idaho. She eventually escapes her isolated upbringing 
to attend college. ______, her brother Tyler also leaves the 
family, though his path takes him in a different direction, as he 
seeks a more conventional life in the city. 
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Which choice completes the text with the most logical 
transition?  
 

A. Secondly 

B. Besides 

C. Meanwhile 

D. Finally 
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In recent years, the rapid advancement of artificial intelligence 
has sparked intense debates about its potential impact on 
society. Proponents argue that AI will revolutionize industries, 
improve efficiency, and create new opportunities for 
innovation. ______, critics caution that the rise of AI could 
lead to significant job displacement, ethical dilemmas, and a 
widening digital divide, particularly if its development is not 
carefully regulated. 
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Which choice completes the text with the most logical 
transition?  
 

A. On the other hand 

B. Moreover 

C. Similarly 

D. In fact 
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In 2020, scientists discovered a new species of bird in a remote 
region of the Amazon rainforest. The bird, which has brightly 
colored feathers and a unique song, was unlike anything 
previously documented in the area. ______, some experts 
suggest that this discovery could be part of a larger, previously 
overlooked group of species with similar characteristics, 
challenging the conventional understanding of regional 
biodiversity. 
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Which choice completes the text with the most logical 
transition?  
 

A. As a result 

B. Furthermore 

C. Alternately 

D. Thus 
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Which choice completes the text with the most logical 
transition?  
 

A.  

B.  

C.  

D.  

 
 


